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el & ﬁﬂf facer (Instructions for Candidates)

1. (@) rafdt P MUHAR, SRele H wfaftedt S M, e
q. onfe w1 & forg aifdRad ww fear mar 2
@) =9 ¥ T 999 & e SRRl @ meE-gRdeT
SR | 9% YRADT & YT T Rl B WRAT B A
S G IS8 W A TS SR | R o It 59 B
fI=TaT 81 A1 Huar Je—gRad! deblel dae o |
(M) g g ifiRed w7a # SR aifdhd R @1 Al &1
2| SR ifhd B & forw a1 €S B T = S|
2. (@) @ TE Iar-3<c H A I BIA 9 Gsve W W
IIeHHID, TRAYRADT BT HHid, Ued JRABI &1 AT
(A, B, C 31raT D), qemef &1 =, wieneil & Swer qer
wer & fafd, sifda |
(@) SR 4 Aa ., T gRA® BT e, Bs Bl IS
T Mel O o At AT FTA 91 UFIS U | W |
(M) Scr—Me ¥ YAl & SR 3ifbd =T &1 39 Gag H
der 39 v gRaa & 9w Ry T F
3. Jifftedar ATH VR (OMR) AN IcR—3e & A A7 Brad
qrer digve U | W Tl O &) vfafteal &1 ugdR wKerhe
TR PR 8, o WNenfil o \od e omar ® b 9
Icar—de § vfafteal o wRd T [ A 9 9d Dy
e T W
4, IaR—Te W FRT @I R = T3 ufaftedt R & Srerar
o A fordd /sifda x|
5. frell ff PR & DaAgaes, AT TA TT AEIEA B
afE B W At R
6. % B 39 TE-YRAaP & MuiRd @rell gl § swar s
goi 7 RegiRa Srrel ® e sifiRed gs 78 2y SR |
7. IR A o= # 50 UHR B PIE IO AT TRATHS UBR
@ Fe B A 39 T F e w1 ol s B
8. TET WA & U¥Eld Sad & e H RN N UBR @
angTIe / IR R Bl BRAE T8 B S |
(e SR difevd &= @ T o v\ gRaer @
98 dR U9 R Ry v 5wl @1 @)

1. (a) Candidates are allowed time to fill up the basic information
about themselves in the OMR sheet such as Name, Roll No.
etc.

(b) After this, question booklet will be given to the candidates.
Tally the number of pages along with no. of questions printed
on cover of the booklet in case of any discrepancy please get
the booklet changed immediately.

(c) Answering of question is not allowed in the given extra time.
Two hours time will be given for answering.

2.(a) On Answer Sheet, supplied to you write input Roll No.,

Que. Booklet No., Set of Question Booklet (A,B,C or D).
Name of Candidate, Signature of candidate, Date of Exam, in
Blue or Black Ball Point Pen.

(b) On Answer Sheet till in your Roll No., Que. Booklet Set and
Centre Code etc. by darkening corresponding circle O with
Blue or Black Ball Point Pen.

(c) On Answer Sheet only the answers to questions are to be
marked. The instructions for this are available on the back
cover page of the question booklet.

3. Optical Mark Reader (OMR) machine prepares the result by reading
the entries made in the circles O will the Blue or Black Ball Point Pen
on the Answer Sheet, hence the candidates must be extremely careful
in marking these entries and must not commit errors.

4. Please do not write mark on Answer Sheet anything extra except

what is asked for.

5. USE OF ANY CALCULATOR, LOG TABLES, MOBILE

PHONE ETC IS PROHIBITED.

6. Rough work should be done on the blank pages or in the space
provided for this on each page of this question booklet. Extra
paper will not be supplied.

7. If there is any sort of mistakes discrepancy (in Hindi or English
Version of the question) either of printing or of factual nature then
regarding this Institute no action will be taken on any type of
representation complaint as stated above.

8. After the completion of the examination, no action will be taken on
any representation/complaint regarding the above.

(Note: For Instructions regarding marking the answer please

see the Last page of this question Booklet.)
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Ul & SR o Tl ey

(Instruction Regarding Method of Answering Questions)

1.

(@UaT PIl 91T GfsTe U9 BT B AR BY)
SR S BT AP

ISR & B ol JNTHIAR. IR JReIehT H AT U
@ 919 ¥ {3y T AR el H§ H Bael T el DI R
BTl BT |

. Yeaie ugh:

TP U B AR THIIT SR 8, S99 I U I
L/ T LT 2 | U9 BT T/ T el IR
3T B | 02 3 YT BN TAT Tl IR 3ifdhad
PR W 1 /3 3id BT SR | IS T | ATST el
FTcl fH S1d & AT I8 TeAd Ica) AT SR |

. SR e e o1 |ivEn

(1) et B I<REfe Ao F Ugel GHARET o o
f IcR—2Me & a1 g=i R w1 gfelit S 1,
RIT—TR=R, BRIER, YA—gRAHT BT TR, 37T
REiRT w9 W Se—da R T 2|

(i) 2 T B T AT & d IRAET BT BISd THT
U3 et b URT ST N | AfS ATIedD gAT
AT I AT & U darede d 9T Je -5
I U R FHd ¢ |

. SavEiie & SYANT #§ gIaEml

IcREe &1 TN &R G99 QU ORE d AT
R | 39 B, Ared IT Jofde gs+ | WRIg 7 84
=4

(Please Use Black Ball Point Pen Only)

. Method of Marking Answer

To give an answer, please darken one bubble out of the
given four, inthe OMR Answer Sheet against that ques-

tion.

. Valuation Procedure

There are four answers to a question, only one of
them is correct/ nearly correct. 02 marks will be
awarded for each correct/ nearly correct answer and
1/3 mark will be deducted for each wrong answer.
If more than one bubble are darkened for a ques-

tion, it will be treated as wrong answer.

. Handing over of Answer Sheet to Invigilator:

(1) Please ensure that all the entries in the answer
sheet are filled up properlyi.e. Name, Roll No.,
Signature, Question Booklet No. etc.

(1) Before the limitation of 2 Hours duration while
leaving the examination hall, hand over the ques-
tion paper to the invigilator. If needed after du-
ration of period, you can ask for your question

paper from the Centre Superintendent.

. Care in Handing the Answer Sheet.

While using answer sheet adequate care should be

taken about tear or spoil due to folds or wrinkles.
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Q.1. HUAT C 1200 ST B AT YR A B o1 25 Sarer | Q1. Company C sells a line of 25 products with an average
Pl SR Tl 2 | IfT 379 W Bz T ST 420 BT retail price of Rs.1200. If none of these products sells for
T HH H T2} fdpdr 2 3R Sid 10 ST 1000 U F HH less than Rs.420 and exactly 10 of the products sell for less
¥ fdpd € O 99 729 IATE BT AVhad dA9q fahy than Rs.1000, then what is the greatest possible selling
I T 27 price of the most expensive product?
(a) 2600 HUY (@) Rs.2600
(b) 3900 ¥UY (b) Rs.3900
(c) 7800 HUY (¢) Rs.7800
(d) 11800 T (d) Rs.11800

Q.2 UF BTF g1 NI, xaraT R ek Tlord ¥ wrea El Q2. Thetotal marks obtained by a student in Physics, Chemis-
i IHD TR I s 3 U it & 120 AP 2 try and Mathematics together is 120 more than the marks
A sk TR F feTeR S9S ERT T sid ai obtained by him in Chemistry. What is the average marks
fray ¥ obtained by him in Physics and Mathematics together?
(@) 40 () 40
(b) 60 (b) €0
© 120 © 120
) s:rq A ﬁ-&: TS (d) None of these

Q3. T aeT # 35 crefpal B e STE 160 S AT TS | Q3. Theaverage height of 35 girlsin a cl.ass was calculated. as
o ﬁs T B TP TR B S T @ .160hcm.llt was later four;d tha.t the heliz of one 1c1>f the g}llrls

; . in the class was wrongly written as 144cm, whereas her

%;jﬁ 3:: ?;f;jj“ :;‘-?L:E_f - 5d?§T1 g\: actual h.eigh.t was 104 cm. What is the actual. aT/erage heig}.lt
( & 419 2 St T qTthea) ofthe girls in the class? (rounded off to 2 digits after deci-
(a) 15854 JH mal)
(b) 158.74 T (Sl 6
(c) 159.56 JHI ?:)) Ezzg
@ ﬁ'ﬁ | m e (d) None of these

Q4. TPE 1 ool § AGADA TS 3 A ; Q4. In an engineering college the average salary of all engi-
TIAPT BT AGT 7T 245 T P9 AT a9 & AR neering graduates from mechanical trade is Rs.2.45 lacs per
SO £ 9 8 T EATDT BT AR T 356 annum and that of the engineering graduates from Elec-
g T A a T Apfied SR gesie tronics trade is Rs.3.56 lacs per annum. The average salary
TIAPT BT ST 9T 312 T ¥ AT ¥ 7 g ofall Mechanical and Electronics graduates is Rs.3.12 lacs
ﬂ:?QTH R1 SEAIT B ATt et AT B LT per annum. Find the least number of Electronics graduates
AT ST HIFAC | passing out from this institute.
(a) 43 @ 8
(b) 59 b) 59
(c) 67 _ © 67
(d) FrreriRer TeT fapa S e (d) Cannot be determined

0s \/ (0.03) +(0.21)° +(0.065) N < The value ot \/ (0.03) +(0.21) +(0.065)

(0.003)* +(0.021)" +(0.0065) Q5. Thevalue of y 16 603) +(0.021 +(0.0065)

(@) 0.1 (b) 10 @@ 0.1 (b) 10
(c) 10° (d) 10° () 10 d 10°
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12 12
Q.6. 3+\/§+2\E P WK & Q.6. 3+\/§+2\E is equal to
@ 1-+/5+2+4/10 @ 1-+/5+2+4/10
(b) 1+4/5+42 =410 (b) 1+4/5+42 =410
© 1+4/5-42-410 © 1+4/5-42-410
@ 1-v5-42-410 @ 1-v5-v2-410
Q.7. T 25% X 64% U Ul WA N &I I & | N & 3Dl | Q7.  Thenumber 25 x 64 is square of a natural number n. The
BT AT B— sum of the digits of n is :
@ 7 @ 7
(b) 14 (b) 14
() 21 (© 21
(d) 28 (d) 28
Q.8. 25 GRUTHAT &7 AT 18 B | STH A Ul 12 BT 3d 14 | Q8.  The average of 25 results is 18. The average of first 12 of
2 3R <ifc 12 &1 ofad 17 & | 13a1 URoMH Fr B1TT? those is 14 and the average of last 12 is 17. What is the 13th
(a) 74 result?
(@ 75 @ 74
(@) 69 ) 75
(@ 78 () 69
(d) 78
9 AR = 4P= , 8, 1 P &7 719 a1 87
Q 3x+7 Sx 4+ P=Tx+5 Q9. If3x+7 = x* 4+ P=7x+5, what is the value of P?
@ =
2 —
(@) 5
b) 8+ 1
4 8~
(b) 1
gL I
© 3 © 85
(d) FaiRa =&l fdhar ST Aaad -
(d) Cannot be determined
Q.10. TP Riw # AP 12 liex g 8 2 | afe Rid & gt | Q.10. Asink contains exactly 12 litres of water. If water is drained
TG dP BTer ST § 519 ad b 9 A1l 70 g from the sink until it holds exactly 6 litres of water less than
Bl AT 1P 6 el HH U 7 I8 S, T fahae effex the quantity drained away, then how many litres of water
U=l g8 TAT? were drained away?
(@ 2 (@ 2
(b) 3 ®) 3
© 6 () 6
d o d 9
m 4 r 3mr —nt m 4 r 9 3mr—nt
Q.11. aﬁ:;—g qer 7——ETFIT Ant—Tmr A9 7 Q11. Ifn—3 and 1—14,thevalueofmls
1 11 1 11
5= = —5— _=
(@) 5 (b) 12 (@) > (b) 1
1 11 1 11
_1= hkl _1= il
(c) 1 (d) 12 (c) 4 (d) 1
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Q.12. 1 HEHIER &1 Arai 1 g 1 fhairiiex @ 3feh # forar | Q.12. One hundredth of centimetre when written in fractions of 1
ST ®, T SRTER &Il & kilometer, is equal to
(a) 0.0000001 (a) 0.0000001
(b) 0.000001 (b) 0.000001
(c) 0.0001 (c) 0.0001
(d) 0.001 (d) 0.001
Q.13. IS Havaw ¥ @h PR R G 518,000,000 @ | Q13. Thenumber 518,000,000 when expressed in scientific nota-
TR B & tion, equals
(a) 51.8 x 1010 (a) 51.8 x 10"
(b) 51.8x10° (b) 51.8x10°
(c) 51.8x107 (c) 51.8x107
(d) 51.8x10" (d) 51.8x10"
Q4. 534,596+ 61 472—496.708 =7+ 27271 Q.14. 534.596+61.472—-496.708="?+27.271
(a) 62069 (a) 62.069
(b) 72,089 (b) 72.089
(©) 126,631 (c) 126.631
(d) 132788 (d) 132.788
. N . Q.15. The traffic lights at three different signal points change
Q15 i W_W_ S ﬁlgsﬁ T L Tee W = after every 45 seconds, 75 seconds and 90 seconds re-
45 I, 75 IS SR 90 H_cbs @ e W STl | A spectively. If all change simultaneously at 7:20 : 15 hours,
|1 T A1 7 1 20 : 15 BC WR &l ®, o 9 Y Ub . . .
then they will change again simultaneously at :
e mﬁ_. (@) 7:27:45hours
Qi 77 1% Q% (b) 7:28:00hours
(b) 7:28: OOEII% (¢) 7:27:30hours
© 7R 308_% (d) 7:27:50hours
(d) 7 :27:50 8
Q.16. AT URY I 40, 24 3R 16 TRY BT T T THY Q.16. Three wheels can complete 40, 24 and 16 revolutions per
£ | TS IR W UB oIl H&T BT & S U e minute respectively. There is a red spot on each wheel that
T F 59T P el 2| fora T 91 I O g U touches the ground at time zero. After how much time, all
SIEREE S B et B these spots will simultaneously touch the ground again?
@) 7%% (@) 7% sec
(b) 18 TP (b) 18sec
© 7%1%:1-@ ©) 7% min
d) 18 faee (d) 18min
Q.17. TS HIell Bl THM Al § Ul drell ufthal # Us o Q.17. A gardener has to plant trees in rows containing equal
B B | IfS 98 6,8, 10 3R 12 B dfpal § 4IY 7mT ©, number of trees. Ifhe plants in rows 0f 6,8, 10 and 12, then
A1 Ui Us 991 oY 38 Wi 2 | <ifdh I a8 13—13 TSt five tree are left unplanted. But if he plants in rows of 13
P Gfehal | O ST ®, @ brs Y Us H8) g9dr | Aol trees each, then no tree is left. What is the number of trees
ERT oY 71T Usi &Y GxT far 27 that the gardener plants?
(a) 485 (b) 725 (a) 485 (b) 725
(c) 845 (d) 379 | BIg Tl (c) &5 (d) None of these
DELHIIAS ACADMEY T-4 Page No.: 5



Q.18. 21 MM B U, 42 I & US 3iR 56 Hax & U Ufthal § | Q.18. 21 mango trees, 42 apple trees and 56 orange trees have to
39 TPR TN S & b e Gtk # ddot Uah & fobed be planted in rows such that each row contains the same
P UST &I FATT AT 8T | Gipal &l = wiee forad number of trees of one variety only. Minimum number of
LA
U SITY ST Fhd o— rows in which the trees may be planted is :
(@ 3 (b) 15 (@ 3 (b) 15
(c) 17 (d) 20 (c) 17 (d) 20
Q.19. T TSN BT HETH AAIAAS qAT STEeTH AT D Q.19. The H.C.F. and L.C.M. of two numbers are 50 and 250 re-
HIIT: 50 AR 250 & | I Ug GBI 2 3 faora spectively. If the first number is divided by 2, the quotient
fopaT STTQ, &7 9Tl 50 BT € | gAY AT 28— is 50. The second number is :
() 50 (b) 100 @@ 50 (b) 100
(c) 125 (d) 250 (c) 125 (d) 250
Q.20. FHIGROT 7 7 & WA W BT Al < i o for Q.20. What mathematical operation should come at the place of
S ey | ?” in the equation :
276-12+4+2=11 296-12+4+2=11
@@ + (b) - (@) + (b) —
(© x (d ~ @) x ) +
Q.21. (?7-968)+79%x4=512
Q21. (?7-968)+79x4=512
(@) 10185 (b) 10190 _— 0 iy
© 11075 (d) 11080 @) ®)
(c) 11075 (d) 11080
3 4 5 21
=z = = =L _ 3 4 5 21
Q22. 504 BT 2 BT @1 o BT — =7 Q2. = of = of > of = of 504="?
5 J/ 9 24
(c) % (d) 3 9 BIE e () % (d) None of these
5 6 5 1
5,1 Q.23. The value of {— of 1—}+ {2—+3—} is
D12l dp2.320 77713 7 "4
Q.23 {7 13} { 3 4}zﬁrm=r%
20 (@ — (b) 1
hal 169
@ 1o (b) 1
5 119 © d) (19
5 1— X 180
© 3 @ 50 !
7 5= 61
U8 5 80313 Q24. Th 8 AL 8,3 13y 3
— — 3 OS2 22 . .24, eexpression 3 of 1 T9\ 711 22 ) of 5 equals
Q24 &W®H (1 FT 3 -SEFF9( T 22}3?@'\'%\' 9% 5
8 7
1
@ 1 (@)
1
1 (b) -
— 2
®
7 (© !
o —
— 9
© 5
5 @ =
— 12
G
DELHIIAS ACADMEY T-4 Page No.: 6



Q.25. 2a° —[3a* +4b* —{2a* +(-7a°)} +5a° - 7b*] BT A B

@ -114°+3p°

(b) 7p° +34°

©) 11d° -3p°

(d —1la’+3b%)

Q.26. T& fAf¥ad ®Ie # 'DUCK' BT 'GXEN' folar SITdT & | 319
'TIGER' ¥T6€ &1 & HIFST BHRT?

(a) WLJHU (b) WLHIJU
(c) WLIIU (d) WLKHU

Q.27. I 'TIGER' &7 '27136' 3R 'TRAIN' BT '26879' & HI H
PIfST fHaT AT & | 3MY 'GREAT' B & HIFST Har?
(a) 16283 (b) 16823
(c) 16223 (d) 16382

e AR hc AT H "te me se" BT e 7 “grapes are
sweet”, "de sero" BT 31ef & “strawberry and grapes” 3R
"ye mere" BT 372f © “apples are red” A1 1T # 4 vreg
BT 31k sweet BIAT 87

Q.28.

(@) se (b) te
() ye (d) 79 ¥ BIg el
Q.29. IfE 'PEAR' B 'GFDN' foraT ST 8, A1 399 ®Is # 'REAP
D forar Soem?
(a) DNGF (b) NFDG
(c) NDFG (d) FDNG

Q.30. IS far Ff¥ad @re # "ADVENTURE" &1 "BFYISZBZN"
& ®U H PIfST fHar Sar €, aF $9 die H "COUNTRY"
BT B PIfST fhar Som?
() EQWPVTA (b) DQXRYXF
(¢ BNTMSQX (dDPVOUSZ

feenfder (31-35) : @ T TN BT IS U
3R T Y Y gl & IR G—

3me ART 3oy, fdg, =, faem, gl gedl, e iR
BRI U NS ATl FART H T&d 8, dfdhd Sedt 121 o g=it
HH H B | e el /Rt @ e 1 7 SR He¥t St Hidter
B =T 8 B

TSN |H AT qTel! HioTel IR & © offh g AT

N AT W T | MY iR g & dra daer = wirel € |
=] 3R T & I dael a1 ARG I8 © | g, faam 9 oW
qreft #fiSTer W 3Edr 7 | R At w ey ok fig w'd § 8iR
M 2 | 79, fean &) /it & e e v8dr 7 | e, ey
P 77T B b el BT B

Q25. The value of 24° —[3a° +4b° — {2a° +(-7a°)}
+5a°-7b%] is
@ -11a’+3p°
(b) 75° +3d°
© 11a’-3p°
(d —1la’+3b%)

Q.26. In a certain code ‘DUCK” is written as ‘GXFN’. How will
you code the word ‘TIGER’
(@) WLJHU (b) WLHJU
(c) WLIIU (d) WLKHU

Q.27. If‘TIGER’iscoded as 27136’ and ‘TRAIN as ‘26879. How
will you code ‘GREAT’?
(@) 16283 (b) 16823
(c) 16223 (d) 16382

Q.28. In a certain code language “te me se” means “grapes are
sweet”, “de se ro” means “strawberry and grapes” and “ye
me re” means “apples are red”. Which word in the lan-
guage means sweet?
(@) se (b) te
(c) ye (d) None of these

Q29. If‘PEAR’ is written as ‘GFDN’, how is ‘REAP’ written in
this code ?
(@ DNGF (b)) NFDG
(c) NDFG (d FDNG

Q.30. If in a certain code, “ ADVENTURE” is coded as

“BFYISZBZN”, how is “COUNTRY” coded in that code?
@ EQWPVTA (b) DQXRYXF
(0o BNTMSQX (d DPVOUSZ

Directions (31-35): Read the given information carefully
and answer the questions given beside:

Eight people Aarush, Bindu, Chunnu, Divya, Etti, Prithvi,
Gopal and Harish live in an eight storey building, but not neces-
sarily in the same order. The lowermost floor is numbered 1 and
the topmost floor is numbered 8.

Aarush lives on an even-numbered floor but not on
the floor numbered second or fourth. Only three floors are there
between Aarush and Bindu. Only two people live between Chunnu
and Etti. Prithvi lives on a floor above Divya. There are equal
numbers of floors between the floors on which Etti and Bindu live
and between the floors on which Aarush and Etti live. Harish lives
immediately below Divya’s floor. Gopal lives immediately below

Aarush’s floor.

DELHIIAS ACADMEY
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Q.31. gt fy=faRed # 9 fra wfar W <gar 2°

(a) TR (b) Ty
(© B (d) g
Q.32. fig ik feam & = fovaen wforel €7
(a) dr= (b) Th
(c) ar (d) M=
Q.33. fA=faRad # | 9 ugell A7 W <'ar 87
(@) &= (b) 91
(c) T (d) Tt
Q.34. fFr=feRad & & e wadl #Riter W Ear 87
(@) TEI (b) P
(c) TITaTe (d) g1

Q.35. fF=foRad § | &9 A1 ®oF ¥ § /8?
(a) MY B! HSTeT TR IEdT B |
(b) feam Fe9 SR #RTe R W& R
(©) T IR F=1 & 917 & AT 2 |
(d) T TR AR TR BT B

Q.36. I Td Uy 1 31 Rexfardt fawrs 7 € | 5 3fd arel Batd | Q.36.

P AR Bl R BT A7 3ip fe@rs m?

@ 2/6
(b) 2
© 6
(d) 4

Q.37. 6 & AT Hard R I A G 87

Q3.

Q3.

Q.33.

Q.34

Q.35.

Prithvi lives on which of the following floors?
(@) Third (b) Fifth
(c) Sixth (d) Second

How many floors are there between Bindu and Divya?
(@) Five (b) One
(c) Two (d) Three

Who among the following lives on the first floor?
(a) Harish (b) Chunnu
(c) Prithvi (d) Etti

Who among the following lives on the seventh floor?
(a) Etti (b) Prithvi
(¢c) Gopal (d) Chunnu

Which of the following statements is/are true?

(a) Aarush lives on the sixth floor.

(b) Divya lives on the topmost floor.

(¢c) There are two people between Prithvi and Chunnu.
(d) Chunnu lives on the third floor.

Two positions of a dice are shown below. Which number
will appear on the face opposite to the face with the num-
ber 5?7

(@ 2/6
(b) 2
© 6
(d) 4

Q.37. Which number is on the face opposite to 67
6 6 5 1
2 4 4 2 6 6 S !
3 2 f 4
2 4 4 2
3 2 6 4
@ 4
(b) 1 @ 4
© 2 ®) 1
d 3 © 2
d 3
DELHIIAS ACADMEY T-4 PageNo.: 8



Q.38. IET urdl o1 <1 Rerfodt fearg 18 €1 afe N 1%’5; & | Q.38. Here two positions of dice are shown. If there are two dots
T SR fhas ﬁ'g: Bhr? in the bottom, then how many dots will be on the top?
@ 2 (b) 3 @ 2 (b) 3
(© 5 (s © 5 (d) 6
Q.39. U HATBR it &1 aF Rerferdf fewrd w1 8 1 ofa 5 daxy | Q39 Two positions of a cubical block are shown. When 5 is at
TR 2 dr o A G=T 99 S e the top which number will be at bottom?
1 g 1 B
3 3
4 ? 2 ? 4 2
() 1 (b) 2 @ 1 (b) 2
() 3 (d 4 (c) 3 (d) 4
Q.40. STTH! Ut B S Rerfirat € 7 & A1 B <1 et SR Q.40. You are given three positions of dice then which face is
o B aTel Boi & Rgdg 27 opposite to the face with alphabet B?
@ E (b) F @ E (b) F
() D (d A () D d A
Qa1. T E'i aj;ﬁ o H%W %_;l RS Q.41. An accurate clock shows 7 o'clock in the morning. Through
gﬁ-rﬁg? 3 ﬁg TP T G how may degrees will the hour hand rotate when the clock
' shows 3 o'clock in the afternoon?
(a) 244 (b) 250 (a) 244 (b) 250°
(c) 268 (d) 240 (c) 268° (d) 240°
Q.42. TP fa71 4 vt o1 et fha- IR e &7 Q42. How many times do the hands of a clock coincide in a day?
(@ 20 (b) 21 (@ 20 (b) 21
(c) 22 (d) 24 (c) 2 (d) 24
Q.43. <9 TS § WY 830 91 & Al e @ ﬁ'&‘ IR = @ Q43. The angle between the minute hand and the hour hand of
gs & 41 BT DI 5— a clock when the time is 8.30, is:
(@ 80° @ 80°
(b) 75° (b) 75°
(©) 60° (©) 60°
(d) 105° (d) 105°
DELHIIAS ACADMEY T-4 Page No.: 9



Q.44. TP TSI HITAIR BT TR 1 g9 1 fAee e & Seh & | Q44. A watch is 1 minute slow at 1 p.m. on Tuesday and 2 min-
3R THAR IUER 1 Jof 2 e T 81 9Ihl 2 | =91 §RT utes fast at 1p.m. on Thursday. When did it show the cor-
T 99T e fewrar Tar? rect time?
(a) JUIR BT 0T 1.00 T (@) 1.00 a.m. on Wednesday
(b) HAR EE 5.00 Tor (b) 5.00 a.m. on Wednesday
(c) 3ITER 100 T CCEIN st (¢c) 1.00p.m. on Wednesday
(d) ¥ 5.00 T TR A (d) 5.00 p.m. on Wednesday
45. A bus leaves at 12 : 25 noon and reaches destination at 10
Q4. TP ER:[ T 1_2 26 T T BN & AR a5 1045 N :45 am. The duration of the journey is :
ﬁmmq@?ﬁ%lwzﬁm%_ (@) 22hrs20min
@) 22 H 20 frFe (b) 22hrs40 min
(b) 22 w¢ 40 fe (¢) 24hrs20min
(c) 24 ®< 20 fiFe (d) 24hrs40 min
(d) 24 ®< 40 fiFe
Q.46. You have just been informed by your friend that he can
Q.46. DT - 3Ty oy =¥ fer fovar & b a2 et manage the tickets for a cricket match that is being held
e 81 aret b #ar & feapet o1 e @ wepdn 2| the next day. It is an India-Pakistan match which is rare in
S W_W 4 8§ S W ﬁwﬁq EE your city and you are really keen to watch it. However,
SITq T H F T P for SgP gl E‘IﬂTﬁ? ST your boss does not ever grant leave by just giving one-
$ E:F;Tﬁ E!i”iq% S 7 1 e @’_g{ T < &) day notice. What should you do?
(@) T drE @ ?I%H iy  mmmam (a) Inform your boss that you cannot attend office due
- T — toill health
(b) TP B AR GV B v adared ey (b) Notify the supervisor that an emergency has occurred
I B TS ® @?W%@WWWW 3| and you want avail of leave.
(©) ™ aRS T | t@'ﬁ 3 R 98 AIHT B (c) Ask your senior officer if he can suggest a way for
AT g1 bl B Tfeh MY #9 @ Sff A+ | you to be excused so you can attend the match
(d) TP HEF FIRAT 3R 9IRS R ¥ g‘é‘[ HET | (d) Cook up astory and ask your senior officer for leave.
Q.47. TN S B SR, 37 BS@EHT 3R veors &I geel | Q47. While on patrol duty, you come across eve teasing and
P A T | DSBIS HYA aTel] Ueb XTSIl Dl 9T & Sl molestation taking place. The molester is the son of a poli-
BT BT Tt HeT dTelT AR AR g1t faemgs 2 | tician who is a law abiding citizen and a hard working
3T T HII? MLA. What should you do?
(a) SITIR YBATS HH siRSg IRr ¥ T@—ﬁ % 77 7a1 (@) Go and inquire and ask the person that what is going
ET & 1 & A Bl GRen GAREd v & 918 on and carry further investigation after ensuring the
ST BT ST HN | safety of the girl
(b) dfF BSBIE TR AT AT Qe &1 9T T, (b) As the molester is the son of local MLA you decided
SfTY 31T ATl BT ARG B BT DT T | to ignore the matter.
(¢ dfF s B B uread B qrel €, gafey (c) Sincethe MLA is law abiding, you decided to let his
ST T 42 BT AR B a2 BT B son go after warning,
T | (d) You call up your senior and explain the situation and
(d) 31T 310 IR BT BIT BT IR Rerfey gariT e ask him that what should be done
ST qBT & @@ fHar S @Ry |
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Q.48. 3T WRA YeTd # S1.GA. 8 | $1 # U FoIrd Ml Wrefl | Q48. You are a D.M. in the Indian Railways. The AC class in
ST RED €. VT UAReTg gIRT AU S arel &H favrg o trains are going half empty. This is caused by low fares
DR EIT & | I §41E AT AT 0¥E B & | i & offered by airline. Passengers prefer to travel by air. To
SEE zﬁ-a-\r 9o & forg T 72 H¥r? ' increase the rate of occupancy. You would:
(@) il @ & forg T R | (a) reduce the fare to get back passengers.
(b) S=a I BT e aTell &vdT BT HH B gU 1 .
. ) ) (b) reduce the capacity of upper classes to match lower
I BT AN FTAR IS TS BT | demand
© = o @l . i 13w S (c) i ﬂ.l blem thinking that it will solve itself.
T BT &Y I Z 1gi.no?e eflro em 11n 1;1g.1.a it will solve itself.
(d) 9= i @ g | (d) eliminate the upper class facility.
Q.49. T SITT ¥ 3190 Afhed RISITSIAT, ST W Udhe 3R oY Q.49. A leader has the ability to ..................... others through
T e B o T;ﬁ & qEH W e qualities such as a good personality expertise, command
________ IR B A BT B 39 W @ fow Ao of language, and the creation of mutual respect; all of
URER® Il BT IR Bl B | which require strong interpersonal skills.
(a) IR (b) THTT (a) impact (b) effect
(c) = (d) BT BT (c) control (d) dominate
Q.50. TIHI el & o ¥ 8T (win-win solution) HHTETT (AR Q.50. They manage conflict effectively by devising win-win
Pxd, QXN Eﬁ B P YATID W § FAT X solutions, constructively influencing the behavior of oth-
AR g9l AR BT STANT IR FEY DI T T | : : -
_ ! ers, and using effective communication ...............
EE1E R G -
(a) targets (b) weapons
@ S ®) (c) goals (d) strategies
(c) e (d) Iurnfaar
Qsl. FrafoRad Sudl @1 gafera I — Q53 =1 # ¥ BIF fowd) fadra v & wEl urey 1 Aafid
-1 ([uamn) a2 (@ifer) IRAT © ?
A, ufRFH el 1. Hawh (a) QP HRT — Tl TR —» Ul — MG —» STBRT |
B Vot Rl 2. ofRdl (b) i Avpa — A T — WA, TTHa
C. gar fe=i 3. Trgarett .
D. ugre fe=l 4. gaelt N |
EB.E' ' ' (¢ dIfdd EFpd — dfdd F¥@a . AUHT
A B CD MR — e
@4 1 23 (o) 3R 2t — A W] T T SR
b 1 2 3 4
© 2 3 1 4 Q54. DU 1 : NS SITGA H 22 AT BT Al fabam T B |
@1 3 4 2 HYT 2 : I AT 84T T # it E 2|
. : PHA 3 1 S AT 84 A H WA LI
Q52. IaE H = wTTeli BT AR AT9T BT Sl Uar fan 3 8 i T B
T R ? R
@ 5 (a) Dad P 1 A &
) 4 (b) BT 1 3R 2 T 8
(c) 6 (c) AT 1,2, 39 &
(d) 8 (d 13R3¥TT 7
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Q.55. fafy fawras @ arefe arer fst § | B4 a1 fadwe

Q.56.

Q.57.

Q.58.

Q.59.

Q.60.

HRAT B ?

() Al — wfidrds fafd . gl . Jage®

fofa . wraeafgers forfd

b) ot — Fafaft - gdfierms ot -

AraqeTd forfd —, Araeafers ferfd

AraqeTd forfd —, Araeafers ferfd

@ FEfaft - gEfafl - weqgas faft

ydfired fafd —, wraeafers forfd |

fereforRad el o &I A1 B 3 © ?
(a) caf it oI wU § o 8 2 |

(b) forft geg wu # =g Bt 2}

(©) TTAFRY forfd &7 ge1 areh fofy 2

(d) HTST BT TELTTH FPTY ¥ & |

gHferd s —
e—1

A. TH TR
B, Wgdd R
C 9 =R
D. «Jd &R
Re

-2

> 0o N~
%ma@

A B
@ 2 1
b)) 1 2
c 1 2
d 4 3

SRR N NS
— AW W g

ferfalRaa & 9 d9—11 31 WR o—
@ T
(b) 3T
(OS]

(d) 79 & DIg &

fereforRad § o pII—1 o sid:¥er o 27
@@ T

(b) X

(c) o

(d) SIRITT T4

frrfoaRad & & 9 a1 Sudy |9 § ?
(a) Sfeer &S
(b) ITHR - AR
(c) & — TR
(d) STa T HUF T B |

— Y&

Q62.

Q.63.

Q64.

Q.65.

Q.66.

=

N

—_
N — W A
L e
W oW NN Y

feifha 3 A gg e &1 99T Sy ?
(a) Do
(b) WEd
(c) Iooldel
(d) &RPr

IRevT Ireq hT Al Gy fawse g ?
(@) W + T
(b) IR + BT
(c) R + BT
(d) o + BT

g Isg BT G fawwe w87
(a) O+ 3+
(b) T + 3
(c) I + a9

(d) T & BIg T

et @Sl @Y e fha gy 87
(@) 20
(b) 22
(c) 28

(d) T & DIg T

|E GAfT HIfTY
-1 (Fre)

A. gy

B. W

I
T

C
D.
7T
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Q67. FferRaa vl § & |l ¥t gfw Q77. ffaRad # & o |1 eed B<awel & fIbr 59 B
ORSIREIS] (b) ST gertar & ?
(c) ST (d) S (a) eI — gdf = — sl
(b) gdT fZ=T — SRMTEN — BTG
Q8. aﬁ‘«ﬁﬁ%@%ﬁg@mﬁi@j{ (c) AT — BRAITE —> YAl o=l
(@) (b) - -
ORI (d) e @ 7 W
Q69. Freferfa il 4 & @i areagror T & ? Q8. STEY et i < feifil 5 foreft ol & 7
@ @ 0 @) HrEn (b) T
© 3 (@) 5§ T T (© W (&) FTH  PIE T
Q.70. fy=iferRad aot § =y qof P &1 ® ? Q79. gAfd W —
(@ o (b)s -1 (@) -2 ()
(¢) T (d) SWIad | A. I BARTTG! 1. gIhS
_ | B U e 2. vl
@ # (b) | D. TRl sAEE 4. BT
(© T (d) o e '
Q72. Wgad <o fha+ UHR & B &7 et 1M
@) 4 b 5 @3 1 2 4
© 3 @ 6 ) 3 2 4 1
© 2 3 4 1
Q73. =1 # & &1 1 avf gy guf § ? d2 3 1 4
@ T (b) @
(©) X d = Q.80. BRINAIET 99T BT UM fRrefTerg forsd e & fiem @ ?
IEGINEN NISHIEECIN
Q7. Fre 3 9 31 o ot ) S & 2 R P
1. 3@ 2. gl
3. BRINTG! 4. A Q81. "IN & IUAT” S gD fhet foredt € 2
&e () T FAN GaziT
@ 1,299 8 (b) 1,2, 3 9T & (b) <. e i
() 19T & (d 1,23 4978 (c) i IHerEE HeAT
(d) i foFe AR T
Q75. BIF T UR Ig © ?
(a) RO Q82. "fdsr@amy” drell foraas faefa el © ?
(b) sEhfeoh (a) DT BUARITS!
(©) e (b) qdf BfeTer
(d) wriEE Q) ST BTG
(d) uf¥=H s<irrTe
Q76. ' ST g T R {5 PR Q.83. "I AMG UfNBT HF YHTRIT B T off ?
AT ST 87 @ 1923
(a) 25 TTaRR (b) 1925
(b) 25 TR © 1935
(c) 14 T (d) 1940
(d) 28 IR
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Q.84

gAferd HIfTg—

FE—1 (TR U3)  Gel—2 (TehTer efr)
A. BRIRTTG 1. foemagR

B. fa®rd 2. TG

C. BTG AEPR 3. PR

D. &4e W8dT 4. g

Q3.

Q9.

YrN-HTA H BANRITG! dlcil BT a7 hal ST o7 ?
(@) DI OEIRE
(0) 3o (d) 379 ¥ iz &I

BTG W & fABrT H ARTeM & fore fafit Arfecasry
BT THIT B B I3 I b a9 F BRIRTTST ST
gRT g fear S e 8 7

EE“EZA 5o ob (@) 2012 (b) 2013
@1 2 43 (c) 2015 (d) 379 & ®Ig T8
b1 2 3 4 Q95. gAfed X —
02 1 3 4 FA—1 (STANTE! ISTHIET SRR -2
@21 4 3 @ YT Fe) CIRINSESIE)!
A. WM 1. IR
Q8s. Wéﬂ%ﬂwwﬁwﬁﬁ%? B. g 2. P
(a) ST EWIR  (b) QYR XY C e 3. RERR
() TR (d) By D. fgdfa 4. afem
Q:86. ‘a‘rﬁwﬁaﬁ?ﬁ;,wwaﬂ?mﬂwmgqu fha® gRT EE‘EZA B C D 4 T OB
W_W%' e - @ 3 2 4 1 b2 3 4 1
e et SRR
[ Q6. FriferRad ¥ & B W dreh Defra werd H wnfrer
Q87. Sf. BT FAR SIF 7 BUNTIG! DI WTIeId R W TR
fpaw Wt # fofog far 8 2 (a) RIS OREEN
@ 5 (b) 6 (c) PiHd (d) T4 9 BIg el
© 3 @4 Q.97. Ufsd r=d =T UIvST §RT U UTR 3% BT
Q.88. TWeeTa! el fAIferRad # fova Rrer # qveflt Smeht 87 i 1931m%ﬁﬁ$’:?§41ﬁ@1ww?
. a
éaﬂgq b . .
8 - Ed;mf s (c) 1911 (d) 379 | BIg Tl
Q9. " Treq ST § - AT & o 87 Q.98. "ATHIER" ATHD BTG UFABT & THTGH I A7
@ T (b) T Ei)) T e e
(c) 3hfeam (d) gaeht .
(c) feaiyg fgad
Q.90. FRTEY TR BERTIE! U T RN PHET o7l & 2 (d) IR GrRoT
(a) el (b) ST , .
. . : Q99. ‘Udc I B foI BTG H R SYANT fabar ST 87
(¢) Pt (d) T4 A BIg el @) T (©) e
Qo1 FrfRad # & B ¥ arelt wfrs wmer aRaR § wnfie (c) fome CUSERERREL
P YD
jiﬁ (b) T Q.100. BRI RTSTHTET 3MANT & fehelf BT ST HrIdBId ©
. ITAR HH H TEN —
(c) %M@ (d) SReA . oret
Q92. "HITH A & HUEH BI o ? 2. XMdlle A
(a) = At (b) Gevaret Tt 3. Sl {79 AR ured
© |t o (d) FafpeiR R @ 123 (b)2 1.3
) 3,2 1 2 3 1
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